3

SINSY e SEE

FENEZAANL—R-LEFEREFERRBF

AEES 203

FER 2019/01/13

=15 RBEHFOH #HBERAR—vVYtE 22—

BAfesh BRI

ey 3
B]Es%: 6,033 JURY :  KIE #Eth F—L byb (R AVM 1 2 3 4 5 | &%
BASRBERS :  11:30 £ &E: 3k Fih BRSEER 0 0 22 13 21 56
TR 12:45 B E: kB EH REEEER 3 0 25 25 25 75
HErmR 01:15 HIFEE: R/ % S &HFRE| 00:25 | 00:20 | 00:24 01:09
BREEFR (S BB ET
1set 2set 3set 4set bset 1set 2set 3set 4set bset
4 1 3.4 1 3|4 1 3 e OB HHE T 5 2 1 2 1 6 5 2 1
as) | an a3) 5l BER J—F X EK
2 6 5 2 6 5 2 6 5 -f-BK & & -f5-E 4 9 6|5 4 9|4 9 6
10) a0y (7 - RA 2k - an
R - 5ALTY = ~ ma - -
i HE B EY: iR E & B £ SFf
RIEE (%) 39.4 109 43 8 Rk 88 48 6 54.5 RIEE (%)
REE (%) 38.9 18 7 3 (RN T7HRYY) 27 12 2 44. 4 REE (%)
v FEH(R) 1.00 — 3 — Jowvy — 1 — 2.33 vy FEH(R)
SR (%) 5.7 57 1 6 H—7 74 3 0 9.8 SR (%)
ARIIEE (%) 55.4 — — — H—JLi—J — — — 54.9 AR IIEE (%)
F—LTHI b+ 3 — 9 — HFOIR — 17 — 3 F—LTHIE
166 56 14 &5t 162 75 6
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
—— t rex 25 lnex % le 5 lnexy B |2EE =
e B2 e slp R R iifgiﬁaigmg
1 | ¢ @il BA 3m mm 3316 1 485 533 |14 6 1 429 |1 03 |14 1 3 3 7.1 0/0 0 -
2 BiE A 3 mEnm 20070 333 233 |0 00 - 0 7.0 0 0 00 |62 2123 524
3 I EE 3 m mEm 15 7 2 46.7 233 |0 00 - 0 - 7.0 1 2 3.6 1.0 1 500
4 IRk A% 3 m mEm 27,9 5 333 300 |4 12 250 [2 o067 |9 0 2 1| -28 |1 0|1 500
5 R R 3/m mm 00 0 - - 00 o0 - 0 - 10/0 04 100 [0/ 0 0 -
6 WA fit 3 /m mm 13/ 4/0 308 1.33 [0 /00 - 0 - 4.0 0 1 6.3 11,0 1000
7 FEl RE 1 O 00 0 - - 0o o0 - 0 - 0 0/0 0 - 00 0 -
8 &F % 0
10 #iE & 2 00 00 0 - - 00 0 - 0 - 3.0/0 2/ 167 |0 0 0 -
1 K RE 1 O 00 0 - - 00 0 - 0 - 1o/ 0/ 1 250 [0/ 0 0 -
12 | L & B8R 3L L oL 00 0 - - 00 0 - 0 - 0 0/0 0 - 9 6 1 722
13 #H R 2 0 O 00 0 - - 00 0 - 0 - 2.0/0 1| 125 o 0 0 -
16 | L AE B 0
18 Ak BFE 0
F—L&F 3 109 43| 8 39.4 14.33 (18 73| 389 |3 100 |57/ 1|6 15| 57 |74 28 26 554
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
ARAEEER i T8 % *R ‘5' i | & ® - ‘5’ 7 E E % = % % B
e Bz e slp R 2 iiﬁgﬁﬁgﬁigmg
1 KiE BB 3 m mEm 47123 2 48.9 7.67 |22 9 1 4.9 |0 - 20 2, 0 6, 175 [0/ 0]o0 -
2 hE BHER 3m mm 940 444 .33 |0 0 0 - 1 03 [16 0 0 6 9.4 |0 0 0 -
3 %M & 0
4 FK BF 3m mm 2314 3 60.9 467 |5 3 1 6.0 |1 03 |10 0 0 3 7.5 11 3.0
5 | C A & 3 m Em 202/0 1000 0.67 |0 0 0 - 30 100 |9 0 0 1 2.8 00 0 -
6 BE [HIA 3 m mEm 2 1.0 500 033 |0 0 0 - 0 - Myt 01 1.4 [17/5 7| 500
7 L mE K 3L L oL 00 0 - - 00 0 - 0 - 0 0/0 0 - 29 16 6 62.1
8 BE EA 0
9 2 N 3/m mm 5 4 1 80.0 1.33 [o 00 - 2| 067 |8 0 0 0 00 |[0/0 0 -
1 = FA 0
12 1 BEa 0
13 =R Ak 0
14 | L K# #E 0
17 KL #hER 10O 00 0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
F—LEE 3 88 48 6 54.5 16.00 |27 122 444 |7 233 |74/ 3 0|17 9.8 |51 21 14 549

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYREE (%) =FR+
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

FTH % 100

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




